
VERTICE 0

XV  =  414364.971
YV  = 4872329.148

VERTICE 1

XT1 =  414366.675
YT1 = 4872322.767
SVC1=       0.000
XTC1=  414366.675
YTC1= 4872322.767
AC1 =       0.000

XV  =  414370.086
YV  = 4872309.993
AV  =    125.6271
AD  =     74.3729
XC  =  414347.352
YC  = 4872317.607
R   =      20.000
SVRC=      23.365
SVL =      23.365

XT2 =  414359.670
YT2 = 4872301.850
SVC2=       0.000
XTC2=  414359.670
YTC2= 4872301.850
AC2 =       0.000

VERTICE 2

XT1 =  414357.542
YT1 = 4872300.187
SVC1=       0.000
XTC1=  414357.542
YTC1= 4872300.187
AC1 =       0.000

XV  =  414346.035
YV  = 4872291.191
AV  =    119.6886
AD  =     80.3114
XC  =  414345.224
YC  = 4872315.943
R   =      20.000
SVRC=      25.231
SVL =      25.231

XT2 =  414333.964
YT2 = 4872299.414
SVC2=       0.000
XTC2=  414333.964
YTC2= 4872299.414
AC2 =       0.000

VERTICE 3

XT1 =  414314.797
YT1 = 4872312.472
SVC1=       0.000
XTC1=  414314.797
YTC1= 4872312.472
AC1 =       0.000

XV  =  414303.932
YV  = 4872319.873
AV  =    167.2658
AD  =     32.7342
XC  =  414342.947
YC  = 4872353.794
R   =      50.000
SVRC=      25.709
SVL =      25.709

XT2 =  414298.113
YT2 = 4872331.660
SVC2=       0.000
XTC2=  414298.113
YTC2= 4872331.660
AC2 =       0.000

VERTICE 4

XT1 =  414290.636
YT1 = 4872346.805
SVC1=       0.000
XTC1=  414290.636
YTC1= 4872346.805
AC1 =       0.000

XV  =  414278.819
YV  = 4872370.742
AV  =    158.9930
AD  =     41.0070
XC  =  414218.902
YC  = 4872311.391
R   =      80.000
SVRC=      51.531
SVL =      51.531

XT2 =  414254.995
YT2 = 4872382.786
SVC2=       0.000
XTC2=  414254.995
YTC2= 4872382.786
AC2 =       0.000

VERTICE 5

XT1 =  414233.897
YT1 = 4872393.452
SVC1=       0.000
XTC1=  414233.897
YTC1= 4872393.452
AC1 =       0.000

XV  =  414223.822
YV  = 4872398.545
AV  =    188.0571
AD  =     11.9429
XC  =  414179.757
YC  = 4872286.359
R   =     120.000
SVRC=      22.512
SVL =      22.512

XT2 =  414212.974
YT2 = 4872401.670
SVC2=       0.000
XTC2=  414212.974
YTC2= 4872401.670
AC2 =       0.000

VERTICE 6

XT1 =  414128.841
YT1 = 4872425.906
SVC1=       0.000
XTC1=  414128.841
YTC1= 4872425.906
AC1 =       0.000

XV  =  414117.549
YV  = 4872429.159
AV  =    185.1064
AD  =     14.8936
XC  =  414156.521
YC  = 4872521.998
R   =     100.000
SVRC=      23.395
SVL =      23.395

XT2 =  414107.319
YT2 = 4872434.940
SVC2=       0.000
XTC2=  414107.319
YTC2= 4872434.940
AC2 =       0.000

VERTICE 7

XT1 =  414054.361
YT1 = 4872464.870
SVC1=       0.000
XTC1=  414054.361
YTC1= 4872464.870
AC1 =       0.000

XV  =  414044.021
YV  = 4872470.714
AV  =    191.6110
AD  =      8.3890
XC  =  413965.796
YC  = 4872308.166
R   =     180.000
SVRC=      23.719
SVL =      23.719

XT2 =  414033.004
YT2 = 4872475.149
SVC2=       0.000
XTC2=  414033.004
YTC2= 4872475.149
AC2 =       0.000

VERTICE 8

XT1 =  413966.672
YT1 = 4872501.846
SVC1=       0.000
XTC1=  413966.672
YTC1= 4872501.846
AC1 =       0.000

XV  =  413945.005
YV  = 4872510.567
AV  =    163.8326
AD  =     36.1674
XC  =  413996.542
YC  = 4872576.060
R   =      80.000
SVRC=      45.449
SVL =      45.449

XT2 =  413931.433
YT2 = 4872529.575
SVC2=       0.000
XTC2=  413931.433
YTC2= 4872529.575
AC2 =       0.000

VERTICE 9

XT1 =  413930.903
YT1 = 4872530.318
SVC1=       0.000
XTC1=  413930.903
YTC1= 4872530.318
AC1 =       0.000

XV  =  413913.633
YV  = 4872554.507
AV  =    154.7089
AD  =     45.2911
XC  =  413865.795
YC  = 4872483.832
R   =      80.000
SVRC=      56.915
SVL =      56.915

XT2 =  413884.759
YT2 = 4872561.552
SVC2=       0.000
XTC2=  413884.759
YTC2= 4872561.552
AC2 =       0.000

VERTICE 10

XT1 =  413805.939
YT1 = 4872580.785
SVC1=       0.000
XTC1=  413805.939
YTC1= 4872580.785
AC1 =       0.000

XV  =  413785.205
YV  = 4872585.844
AV  =    173.2286
AD  =     26.7714
XC  =  413829.644
YC  = 4872677.934
R   =     100.000
SVRC=      42.052
SVL =      42.052

XT2 =  413768.344
YT2 = 4872598.926
SVC2=       0.000
XTC2=  413768.344
YTC2= 4872598.926
AC2 =       0.000

VERTICE 11

XT1 =  413753.732
YT1 = 4872610.263
SVC1=       0.000
XTC1=  413753.732
YTC1= 4872610.263
AC1 =       0.000

XV  =  413741.743
YV  = 4872619.565
AV  =    180.8254
AD  =     19.1746
XC  =  413692.432
YC  = 4872531.255
R   =     100.000
SVRC=      30.119
SVL =      30.119

XT2 =  413727.534
YT2 = 4872624.892
SVC2=       0.000
XTC2=  413727.534
YTC2= 4872624.892
AC2 =       0.000

VERTICE 12

XT1 =  413706.637
YT1 = 4872632.725
SVC1=       0.000
XTC1=  413706.637
YTC1= 4872632.725
AC1 =       0.000

XV  =  413695.175
YV  = 4872637.022
AV  =    189.6325
AD  =     10.3675
XC  =  413759.290
YC  = 4872773.180
R   =     150.000
SVRC=      24.428
SVL =      24.428

XT2 =  413684.561
YT2 = 4872643.120
SVC2=       0.000
XTC2=  413684.561
YTC2= 4872643.120
AC2 =       0.000

VERTICE 13

XT1 =  413589.935
YT1 = 4872697.490
SVC1=       0.000
XTC1=  413589.935
YTC1= 4872697.490
AC1 =       0.000

XV  =  413579.574
YV  = 4872703.443
AV  =    184.8570
AD  =     15.1430
XC  =  413639.754
YC  = 4872784.196
R   =     100.000
SVRC=      23.787
SVL =      23.787

XT2 =  413570.907
YT2 = 4872711.670
SVC2=       0.000
XTC2=  413570.907
YTC2= 4872711.670
AC2 =       0.000

VERTICE 14

XT1 =  413568.812
YT1 = 4872713.658
SVC1=       0.000
XTC1=  413568.812
YTC1= 4872713.658
AC1 =       0.000

XV  =  413556.699
YV  = 4872725.157
AV  =    173.7939
AD  =     26.2061
XC  =  413623.890
YC  = 4872771.680
R   =      80.000
SVRC=      32.932
SVL =      32.932

XT2 =  413550.198
YT2 = 4872740.543
SVC2=       0.000
XTC2=  413550.198
YTC2= 4872740.543
AC2 =       0.000

VERTICE 15

XT1 =  413527.717
YT1 = 4872793.748
SVC1=       0.000
XTC1=  413527.717
YTC1= 4872793.748
AC1 =       0.000

XV  =  413521.978
YV  = 4872807.332
AV  =    176.7899
AD  =     23.2101
XC  =  413601.409
YC  = 4872824.885
R   =      80.000
SVRC=      29.167
SVL =      29.167

XT2 =  413521.459
YT2 = 4872822.070
SVC2=       0.000
XTC2=  413521.459
YTC2= 4872822.070
AC2 =       0.000

VERTICE 16

XT1 =  413521.249
YT1 = 4872828.041
SVC1=       0.000
XTC1=  413521.249
YTC1= 4872828.041
AC1 =       0.000

XV  =  413520.344
YV  = 4872853.741
AV  =    160.3995
AD  =     39.6005
XC  =  413441.298
YC  = 4872825.226
R   =      80.000
SVRC=      49.764
SVL =      49.764

XT2 =  413504.633
YT2 = 4872874.101
SVC2=       0.000
XTC2=  413504.633
YTC2= 4872874.101
AC2 =       0.000

VERTICE 17

XT1 =  413504.085
YT1 = 4872874.811
SVC1=       0.000
XTC1=  413504.085
YTC1= 4872874.811
AC1 =       0.000

XV  =  413490.116
YV  = 4872892.913
AV  =    159.8020
AD  =     40.1980
XC  =  413448.667
YC  = 4872832.046
R   =      70.000
SVRC=      44.200
SVL =      44.200

XT2 =  413468.155
YT2 = 4872899.278
SVC2=       0.000
XTC2=  413468.155
YTC2= 4872899.278
AC2 =       0.000

VERTICE 18

XT1 =  413401.433
YT1 = 4872918.619
SVC1=       0.000
XTC1=  413401.433
YTC1= 4872918.619
AC1 =       0.000

XV  =  413390.599
YV  = 4872921.759
AV  =    188.0661
AD  =     11.9339
XC  =  413434.842
YC  = 4873033.874
R   =     120.000
SVRC=      22.495
SVL =      22.495

XT2 =  413380.539
YT2 = 4872926.864
SVC2=       0.000
XTC2=  413380.539
YTC2= 4872926.864
AC2 =       0.000

VERTICE 19

XT1 =  413312.799
YT1 = 4872961.239
SVC1=       0.000
XTC1=  413312.799
YTC1= 4872961.239
AC1 =       0.000

XV  =  413297.464
YV  = 4872969.020
AV  =    173.0414
AD  =     26.9586
XC  =  413349.001
YC  = 4873032.579
R   =      80.000
SVRC=      33.877
SVL =      33.877

XT2 =  413286.681
YT2 = 4872982.416
SVC2=       0.000
XTC2=  413286.681
YTC2= 4872982.416
AC2 =       0.000

VERTICE 20

XT1 =  413280.292
YT1 = 4872990.354
SVC1=       0.000
XTC1=  413280.292
YTC1= 4872990.354
AC1 =       0.000

XV  =  413269.789
YV  = 4873003.402
AV  =    173.7217
AD  =     26.2783
XC  =  413342.611
YC  = 4873040.517
R   =      80.000
SVRC=      33.022
SVL =      33.022

XT2 =  413265.403
YT2 = 4873019.567
SVC2=       0.000
XTC2=  413265.403
YTC2= 4873019.567
AC2 =       0.000

VERTICE 21

XT1 =  413261.102
YT1 = 4873035.416
SVC1=       0.000
XTC1=  413261.102
YTC1= 4873035.416
AC1 =       0.000

XV  =  413258.352
YV  = 4873045.553
AV  =    186.6743
AD  =     13.3257
XC  =  413164.592
YC  = 4873009.228
R   =     100.000
SVRC=      20.932
SVL =      20.932

XT2 =  413253.554
YT2 = 4873054.898
SVC2=       0.000
XTC2=  413253.554
YTC2= 4873054.898
AC2 =       0.000

VERTICE 22

XT1 =  413167.872
YT1 = 4873221.801
SVC1=       0.000
XTC1=  413167.872
YTC1= 4873221.801
AC1 =       0.000

XV  =  413147.095
YV  = 4873262.273
AV  =    106.0046
AD  =     93.9954
XC  =  413123.391
YC  = 4873198.966
R   =      50.000
SVRC=      73.824
SVL =      73.824

XT2 =  413104.847
YT2 = 4873245.400
SVC2=       0.000
XTC2=  413104.847
YTC2= 4873245.400
AC2 =       0.000

VERTICE 23

XV  =  412971.187
YV  = 4873192.020
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